Adding by counting on (1)
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Complete the addition story below.
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First there were

Then more were added.

Now there are

If I start with 9 apples,
then add 7 more, I will
have more than 15 apples
in total.

20NN
3

Is Kat correct?

Explain how you know.

First there were 6 sweets. Then 4 more sweets
were added. Now there are 10 sweets.
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True or false?
Explain how you know.

If I start with 8 cookies,

then add 6 more, I will

have less than 12 apples
in total.
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Is Ben correct?

Explain how you know

First there were 7 acorns. Then 5 more acorns
were added. Now there are 13 acorns.
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True or false?
Explain how you know.

Create your own addition story.

4 First N Then Y8 A

Z
5]
<

- AN AN J

First there were

Then more were added.

Now there are
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Adding by counting on (1)
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Complete the addition story below.
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First there were

Then more were added.

Now there are 15  apples
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If I start with 9 apples,
then add 7 more, I will
have more than 15 apples
in total.
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Is Kat correct?

Yes

Exolain h X 9+ 7=16.
Xplatn nOW Yyou RNOW. 14 1 ore than 15.

First there were 6 sweets. Then 4 more sweets
were added. Now there are 10 sweets.

Then
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True or false?
Explain how you know. 6 + 4 =10

If I start with 8 cookies,

then add 6 more, I will

have less than 12 apples
in total.
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Is Ben correct?

No

Explain how you know 8 + 6 =14
14 is greater than 12.

First there were 7 acorns. Then 5 more acorns
were added. Now there are 13 acorns.

First Then Now
o000 || 00o0e || 0066
O0e 'YL L &ddd
'YL
PY T L L]
False

True or false?
Explain how you know.

7+5=12not 13

Create your own addition story.

4 1 Then No

Children will draw their own story and complete
the stem sentences.
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First there were

Then more were added.

Now there are
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